/ Ready to Go evel

Jim and Tony were going to a dress up party. The party was for Kelly’s birthday.
“I am going to dress up as a vampire,” Jim said during dinner.

“But | was going to dress up as a vampire!” said Tony, his brother.

“Why don’t you dress up as a robot?” Jim asked.

Tony said, “No, | want to dress up as something scary.” He thought for a moment,

and then he said, “I know. | will dress up as a monster!”

Both boys started getting dressed after lunch. Jim put @ @
everything out on his bed and then he put on his costume.

Jim was ready as quick as a flash. He looked at himself in

the mirror. He wore a black cape, a bow tie and a pair of

fangs. He also had on black boots. He looked in the mirror.

He was looking pretty scary!

Then Jim went to Tony’s room. Mum was helping Tony put on his costume. He

was wearing old, torn clothes and had messy hair. He looked scary already.

“There we go. Now we just need a scar to go over this green face paint,” said

Mum. She carefully drew a large scar across Tony’s forehead.

“Grrrrr! Now | am ready,” Tony said.

Just then, they heard a knock on the door. Mum looked out the

D window. “It is Rick and his dad,” said Mum.

“Then it is time to go. Thanks, Mum,” said Jim. Jim grabbed the

present and the boys ran out the door.
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1. Why were the boys dressing up?

Questions

Ready to Go - Level 2

2. Why didn't Jim want Tony to dress up as a vampire?

3. Whose birthday was it?

4. Why didn’t Tony want to dress up as a robot?

5. Why do you think Rick and his dad came to the house?

6. Who do you think is older, Jim or Tony? Why do you think that?

7. Draw lines to match Jim and Tony to what they put on. Draw each item!

scar

Bow tie Torn clothes

fangs

boots

Messy hair
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/ Answers Ready to Go —Q

1. Why were the boys dressing up? They were going to a dress up
party.

2. Why didn't Jim want Tony to dress up as a vampire?

Because Jim was already dressing up as a vampire.

3. Whose birthday was it?

It was Kelly's birthday.

4. Why didn’t Tony want to dress up as a robot?

Tony wanted to dress up as something scary.

5. Why do you think Rick and his dad came to the house?
Answers may vary. Rick’s dad was taking the boys to the
party/

6. Who do you think is older, Jim or Tony? Why do you think that?

Answers may vary. Jim is probably older because Mum is
helping Tony get dressed.

7. Draw lines to match Jim and Tony to what they put on. Draw each item!

scar Bow tie Torn clothes fangs boots Messy hair
Jim ¢
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